Normalized dN/d(A R)

Isolated Photons (no ID required)
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« Looks fine for isolated photons « Trying with special tags containing

some bug fixes in the photon ID
* Requiring one of the Photon Ids J P

(EMPhoton, LoosePhoton,
TightPhoton) rejects nearly all of
them



Normalized dN/d(A R)

Normalized dN/dCombReliso

Non-isolated Photons
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Many non-isolated photons

Which isolation to use? What is a
good cut?



Normalized dN/dPt

Effect of
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' RlGeV)
« Spectrum looks ok
« Most events have only on photon
left

* Missing too many photons?
« Bad tail in recoil MET
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